EEC 118 (Prof. V.G. Oklobdzija) Quiz -2 Spring 2003
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Chapter 2: Problem 1 (10 points): Determine noise margins for the inverter with

characteristics shown: Vi Vo
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Chapter 2: Problem 2 (10 points): Fill in the name of the region that corresponds to the
given transistor current expression:

(8] \Jl e 'f*ﬁa—;om: aut. G{.{
The = R (g -Ve Wae - 4? i Cegion = Unear

ﬁi (\)’Tg i \Jt\ﬂl e ‘a..;c,..\ = ’;Jii-ft_ri'f"-*lf'-".--;

Chapter 2: Problem 2 (10 points): Do the reverse engineering on those two layouts (a)
and (b). Draw the schematic diagram for each circuit:
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